
Grade 2
Maths Multiplication and Division 

Reasoning
Which has the most chocolates:
3 packets of chocolates with 6 in each packet, or
4 packets of chocolates with 4 in each packet?
Explain your reasoning.

Which has the most cookies:
5 packets of cookies with 6 in each packet, or
6 packets of cookies with 4 in each packet?
Explain your reasoning.

Which has the most pencils:
7 packets of pencils with 6 in each packet, or
7 packets of pencils with 7 in each packet?
Explain your reasoning.

Which has the most pens, if at all:
4 packets of pens with 6 in each packet, or
6 packets of pens with 4 in each packet?
Explain your reasoning.


